
2x5x2mm

Rubber O-Ring

205020OR

Main Rotor Hub Insert

MH-18FX001TI

Main Rotor Hub Upper

MH-18FX001TU

Main Rotor Hub Button

MH-18FX001TB

M2x8mm

Cap Screw

M2080CSS

Main Rotor Hub

MH-18FX001T

Feathering Shaft

MH-18FX004T

MICROHELI CO., LTD.

1

.....x6

Apply Loctite to all screws

LOCTITE

COPYRIGHT © 2017 MICROHELI

®

BLADE 130 S HELICOPTER CNC Aluminum/Plastic Triple Orange Blade Conversion set

 CNC ALUMINUM/PLASTIC TRIPLE ORANGE BLADE CONVERSION SET

MH-130S001TO

2x5x2mm Rubber O-Ring

LOCTITE

Apply Loctite

01

CAUTION: Please check your model helicopter carefully before attemp to fly!

REV. 130S001TO-250817-01

2x5x2mm

Rubber O-Ring

205020OR

2x5x2mm

Rubber O-Ring

205020OR

2x5x2mm

Rubber O-Ring

205020OR

2x5x2mm

Rubber O-Ring

205020OR

2x5x2mm

Rubber O-Ring

205020OR

.....x3

1.4x2x2.2mm Main Blade Grip Horn Bushing

.....x3

2x3x5.4mm Brass Spacer

.....x3

1.4x3.3x0.5mm Brass Washer

.....x3

2x5.1x0.7mm Brass Washer

.....x3

M1.4x4mm Phillips Head Screw

.....x3

M1.4x6mm Phillips Head Screw

.....x1

M1.6x6mm Phillips Head Screw

.....x3

M1.6x8mm Phillips Head Screw

.....x1

M2x8mm Cap Screw

.....x3

3mm Titanium Ball (Short)

.....x2

3mm Titanium Ball

.....x1

Stainless Steel Ball Linkage w/ Pin

.....x6

2x5x2mm Radial Bearing

.....x1

8x12x2.5mm Radial Bearing

Note:

 - Gyro sensitivity: 80%.

3mm

Titanium Ball Linkage (Short)

MH-18FX021S

3mm

Titanium Ball Linkage (Short)

MH-18FX021S

3mm

Titanium Ball Linkage

MH-18FX021

Center Ball

MH-18FX012CB

Center Ball Housing

MH-18FX012BH

Upper Cup

MH-18FX012U3

3mm

Titanium Ball Linkage (Short)

MH-18FX021S

3mm

Titanium Ball Linkage

MH-18FX021

3mm

Stainless Steel Ball Linkage w/ Pin

MH-18FX012P

8x12x2.5mm

Radial Bearing

MR128

Lower Cup

MH-18FX012LC


	Sheets and Views
	Model


